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E | C Se=1) | (2) | ( ve="y,=05)
T | ( sp=358)| (5 )

- HIE
F(1,2;0.05)=( 185 )  F(1,2;0.00)=( 985 )
F(2,2;0.05)=( 19.0 )  F(2,2;0.00)=( 99.0 )
K+ AXEE, NFBlXEECAELRD,

- i K e
RSO RHEBIEA R R & 72 2 KEOMAR ( A2B3 )
D RHEEMI,
fi(A;B3) =+ ay + by = i+ ay+pi + by — fi = X + X3 — X = 11.33 + 20 — 9.83 = 21.5
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[Ri%E 19]

QC BE 2%k ZBRAl
[EHEFE N K % Ra=0.99, Rp=0.97, Rc=0.95 ® 3 SO MR H 5, ZNEDOHMERDOS AT AT,
VATANICHE L2 EDOEEEZEE LR SV,

1) AT 21 ORE : EEE= (

0.9885 )

el
w2
ng
~3
i
=
&

Eo
=
>

B Ry X [1—{(1=Rg) X (1 =R} = 0.99 x {1 — (1 —-10.97) x (1 —0.95)}

=0.99 x {1 — (0.03 x 0.05)}
=0.99 x {1 —0.0015}
= 0.99 x 0.9985

= 0.988515 — 0.9885

2) v AF AU OELE : |

BHEE= ( 0.9982 )
¥Bih Re
Hhdh Re Hih Ra

BHA 1 -{(1—-Rgp) X (1 —=RcXR)}=1—(1-0.97) % (1—0.95x0.99)}

=1—0.03 x (1 — 0.9405)
=1—0.03 x 0.0595
=1-0.001785

= (0.998215 - 0.9982
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